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100cm 50cm 5cm 100cm 50cm 5cm
1 ﬁg It 0.08 0.11 0.12 21 |hRREOAE 0.07 0.09 0.14
2 |EIS®IBUSLT 0.08 0.15 0.30 22 |EREBFOAE 0.08 0.11 0.15
3 |EEMET 0.12 0.21 0.44 23 %;ﬁgﬁ_EEIETZT 0.07 0.10 0.16
4 ?;f;% 0.07 0.08 0.07 24 |RESHR 0.07 0.06 0.08
5 |FEMAE 0.08 0.09 0.12 25 |1[E RE=E 0.06 0.05 0.05
6 |ABEEEUVELT 0.07 0.08 0.11 26 A 1EZENE 0.05 0.06 0.06
b [—

7 |M=rEOELT 0.06 0.08 0.13 27 %g;f%f 0.08 011 027
8 |FEAAE 0.07 0.09 0.08 28 %%Eﬁ{é(ﬁ%ﬁ% 0.08 0.12 0.28
9 |mi5 0.07 0.06 0.07 29 |BLHEKEGR) 0.07 0.06 0.12
10 |FaPq{ali& 0.08 0.09 0.11 30 |BLHEKE () 0.06 0.07 0.10

KREEEEA ABEEAND
11 fBliE 0.09 0.1 0.20 31 Rk 0.15 0.20 0.49

=
12 %E%ﬁﬂj)\n 0.21 0.34 1.90 50cm (& 3[E18IE T 1E 32
=

13 E%ﬁﬁjtiﬁ 0.09 0.13 0.21 33

T—IVIESHLNG
14 HEKE 0.07 0.09 0.10 34

4
15 (Hram) 0.07 0.07 0.08 35
16 |EF9{EIE 0.07 0.09 0.11 36

S R
17 (dt=8) 0.08 0.08 0.07 37
18 [HAE=miAE 0.08 0.10 0.14 38
19 |HREZUVSLT 0.09 0.1 0.23 39
20 |BmERFOAE 0.07 0.08 0.09 40
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